I. RAEHR

17. B8 - AR—YOEBERRIZDONT

17—1. BBy - RAIR—YDEHHEE

Q17—1 &llix, WE1ERIC, CORRE, HEH) - AR—>] ZI70FE LIeh,
(Olx12)
X NES) - AR—> ) 0 g REEE - KUk - Bk - R - <V AR—=Y ) AU E—R
K=&, /I Ravr .« V7 bR —%pL 7 )=
—Ya VAR ATV T Ry X T FEVEOT Y
NRTAR—=Y T —F 0 7 CRVMAER, EEZ BN E L
HEHE S CoOWmE) - B7EE2 A ET,

AR—VE | RR—YIE
1o1= Thimot=
& (@18)
SEE 20.8 22.7 73.0 240
REERE 18.9 21.9 69.8 27.3
0% 20% 40% 60% 80% 100%

BE(C3AUL(FE1508%EBASEE) BBEIT1~2R EE(FE51~15081EEF)
B RIC1~3HEE(F12~508EE) 3MNAIZT1~2BREE (F4~11HEE)
O4IZ1~381EE B {ThEh o1

O&\EZ

HEH) c AR—YOERHEIZOWTEMT D L, MThRholz] 2N 24.0% &> TERY, FEERE L
HEEE L T3.3ARA  METFLTWD, 1To7c X, NEIC1T ~2 ARRE ((E51~150 B BRE) IR
22. 7% LR bE<, WNTIHEIC3SHLE (FF150HZB2 AFE) 128 20.8%. [HIZ1~3 HELE
(-1 2~5 0 HFRE) 128 15.6% 72> TWD, WEEE LTS L, THIC3 AU E (81 50H%
R DFE) 1IN 1.9KRA > M ER LTV,

52



I. RAEHR

17—2. EQ&S5EE - AR—VETH1=H

[Q17—1TT1~5. o1 E@MELEAIZ] (=919
Q17—2 Yok lHEHE) - 2AKR—Y] ZT70FE L7, (OIFWLNDTH)

0 20 40 60 80 (%)

f—=27 - 2B <Y
(VA—F2 7. 36%)

BELHEDPESTO 25.8
BE - BFFCKEEB/M) H FH 25.0

BB (BAY)
(FIk. T=R. TILTEH)

TIRRT7RR—Y
D2/ NI DR SDE-)

BB (BR) 7.9
(INL—R—IL, E5%F) 9.3

B RR—Y (BR#LLSY) 6.0
(B L#E. Kik%) 6.1

L) I—ay Zik—Y E 4.2
(TS99 RT NI VIRL— i 2.4

A R—AR—Y i} 2.8
(RF—  R/—R—F . R5—+ H 2.1

HE N 21
(RE.BE.EF.BEF) B 1.9

vuyxﬁ—vﬁﬁfwxﬁ—v)éll

mSEE
(@b =1 —h¥us B 15 S
oo D

4 o] & .

bGi|
A

Q17—17T Hroiz) ERELIEFIZ, EOXKDRESR - AR—Y&2{To=0EMTHE, ML —
VI fEESY (Tp—F S IHE) ] N6 2% EEELEL . RWT [THIEFESESHATOEE) -
LKA

s GIEBI A M) ) 28 25.8%, [EREL (BAV) (BBk, 7=2, TL7%)] 7 14.8%, (77 b K7
K= (FA 7 V7 WD $#90%) ) 25 13.2%DNEE 72> T D, MR L H#T 5 & T

DOHEANFRRETHE L TS,

53



I. RAEHR

17—3. BB - AR—VYZEThiuabh-1-EH

[Q17—1T T6. fThlidof-1 E@MEBLEAIZ] (=302)
Q17—3 [HE#) AFR—Y] 2T HEII T T, (OIFWLWDTYH)

0 20 40 60 (%)

= (RE-FRINSIC
FEHRof- A

BRI
AR—=Y[FFETHL
BEAEHMND

A5

ANV

BT OHEER AL

BEEMNLVEN

Z 01tk

52 H T

SiEEssEsasNmanasi BSEE

:I::IIIIIIIIIIIII 15.4
DMEE

2.0
mE E
I EI R 0.6

Q17—1T Hrokrhrolz) LHEELEFIC, EH) - AR—=YZ{TbRhroEBICO W TEMT
e, MR (FZE-FH) BRI B3 T7%EHREBE, RWT MEEZR-72] 2835.1%, =72
W N34 1%DIEE 7o > TWD, BEEE LT DL HFEE2R -7 BN T.THRA L M ER L, MEHFE (F
HFR) BB BA3IRAL L MEFLTWS,

54



